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.´¨� �µÆ� ö� ¥�� ý�ð Âû ø ´¨� ýÀ� �bÎÖ÷ ý�¤�¢ �î ´¨� ¢���õ ×þÂµõ ý�Ìê ×þ À�û¢ ö�È÷ (7À�û¢ ¤�Âì ø Àª�� ö�À�õ ×þ F À��î ­Âê (8

R = {a0 + a2x2 + · · ·+ anx
n | n ∈ N, n ≥ 2, ai ∈ F}×þ R À�û¢ ö�È÷ .´¨� ü��¹��� ø ¤�ÀØþ ý�ÖÜ� ×þ �ûý��ÜÞ�À�� üó�Þãõ �Â® ø âÞ� �� R ��®ø ��.Àª��üÞ÷ (PID) üÜ¬� ñ�ùÀþ� ù¥��¤�� ×þ �fÖ�ì¢ ¢Àä Âû �î Ý�û¢ ¤�Âì ö��� �ó�±÷¢ ×þ ¤¢ Ý�÷���üõ �¤ ×þ ¥� Â�ï¤�� üã�±Ï ¢�Àä� À��î ´��� (9.À�ª�±÷ ñø� Ýû �� ´±Æ÷ üó��µõ �b ÜÞ� ø¢ º�û ø ¢�ª Âû�ÒùøÂðÂþ¥ ×þ ý�¤�¢ G À��î ­Âê ùø�ä �� .Àª�� 4p �±�Âõ ¥� ùøÂð ×þ G ø ¢Âê ñø� ¢Àä ×þ p À��î ­Âê (10.´¨� 2 ¥� Â�ï¤�� �±�Âõ ¥� �Ìä 2p− 2 Ûì�À� ý�¤�¢ G À�û¢ ö�È÷ .Àª�� 4 �±�Âõ ¥� ý¤ø¢Â�èÀ � û¢ ¤�Â ì .À � ª� � ¼ �½¬ Â þ¢� Ö õ � � â þ¥� � Ý û ø Û Ö µ Æ õ ü ê¢�Ê � ý� ûÂ � ç µ õ {Un}n∈Z À � � î ­Â ê (11.E[|A|] = 1 À�û¢ ö�È÷ .A = {n ∈ Z; f(n) = 0} ø f(n) = n+ Un

A ⊆ X ý�ä�Þ¹õÂ þ¥ Â û ý�¥� � � � î ý¤�Ï � � Àª� � ù¢ÂÈ ê ×þÂ µ õ ý�Ìê ×þ (X, d) À � � î ­Â ê (12¥� r � î ¢¤�¢ ¢� �ø 0 < r ø a ∈ A ,´ ¨� � µ Æ � ý� ûý� ð ¥� ü î�Â µ ª� ø ¢¤�¢ � Î Ö ÷ × þ ¥� Ç � � � î.¢¤�¢ ´ �� � � Î Ö ÷ × þ f : X → X ýÂ µ õø� þ� Â û À � � î ´ �� � .A ⊆ Dr(a) ø ´ ¨� Â µ Þ î A Â Î ì.(Dr(a) = {x ∈ X; d(x, a) ≤ r}).À�ª�� Õê�õ


